L) Ul
42 Tank KARCHER
Professional \ Vacuum cleaner \ Wet-/dry vacuum cleaner \ NT 611 ECO BS *EU \ Spare parts list NT 611 Eco BS \ Tank \ Tank

Valid on 11.02.2019 Page1l/3



42 Tank

Professional \ Vacuum cleaner \ Wet-/dry vacuum cleaner \ NT 611 ECO BS *EU \ Spare parts list NT 611 Eco BS \ Tank \ Tank

KARCHER

POS

© 00 N O U1 A W N

W W W wwwwwN-N-I NNRINNNRRRRERR R P B
40O A WN PO O OWSNPDIWNROOONUWUA-MWNRO

Article no.
4.070-487.0
7.306-138.0
7.311-380.0

5.110-922.0
5.105-300.0
6.435-196.0
6.343-168.0
6.435-197.0
5.032-446.0
7.311-423.0
5.034-706.0
6.435-384.0
7.303-086.0
5.316-974.0
6.303-285.0
5.031-857.0
6.362-169.0
7.312-292.0
5.044-368.0
5.044-369.0
5.031-960.0
7.306-185.0
6.373-815.0
7.312-058.0
7.311-065.0
7.306-197.0
5.058-527.0
7.312-026.0
7.311-067.0
5.007-873.0
6.995-019.0
7.312-052.0

Valid on 11.02.2019

Description

Tank complete NT 611 Eco BS
Screw M6x60 -8.8-R3R (In6Rd)
Cap nut M6 -6-A2E DIN 1587
Shearing shackle

Bush M8

Axle

Wheel D 180

Lock washer

Wheel cap zinc yellow

Covering cap

Hexagon nut M10 -04-A2E DIN 985
Steering rollers strap

Castor with brake 75

Screw 5x30 -10.9-R2R (K-In6Rd)
Bolt electrically conducting
Screw M 8x 40

Suction connection EL.

0O-Ring seal 12,0 X 2,0

Washer 6 -A2 1SO 7093-1
Holder left

Holder right

Holder accessories base body
Screw M5x 35-A2-70 (IN6RD)
Holder Toolflex

Washer 5 -A2 I1SO 7090
Hexagon nut M 5-A2-70 ISO 4032
Screw M6x35 -A2-70 (In6Rd)
Sheet metal component
Washer 6 -A2 ISO 7090
Hexagon nut M 6-A2-70 ISO 4032
Plate

Locking hook

Washer 5 -A2 ISO 7089

Page 2 /3

Quantity
1.000
2.000
2.000
1.000
2.000
1.000
2.000
2.000
2.000
2.000
2.000
1.000
2.000
3.000
1.000
2.000
1.000
2.000
2.000
1.000
1.000
1.000
2.000
1.000
2.000
2.000
2.000
1.000
2.000
2.000
2.000
2.000
4.000

Unit
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST



42 Tank

Professional \ Vacuum cleaner \ Wet-/dry vacuum cleaner \ NT 611 ECO BS *EU \ Spare parts list NT 611 Eco BS \ Tank \ Tank

POS Article no. Description Quantity Unit
38 7.311-623.0 Cap nut M5 -A2 DIN 986 4.000 ST

Valid on 11.02.2019 Page 3/3


http://www.tcpdf.org

